
DS-101  1 P.T.O.  

Seat No. :  _______________ 
  

DS-101 
December-2013 

M.Com. (Sem.-IV) 

510 - EA/B/C : Strategic Financial Management 
 
Time :  3 Hours]  [Max. Marks : 70 

 
1. (a) ïõÛé¸ÛÛëÁéõ¤ø ¾ÛæÅýÛÛ×ïõ¶Û¶ÛÛ ÈÛ¤øÛÈÛéÅÛ ÁõÛéïõ¦ø ¸ÛóÈÛÛÐü¶ÛÛ ”ýÛÛÅÛ¶Ûà ˜Û˜ÛÛÙ ïõÁõÛé. 7  

  Discuss Discounted Cash Flow Approach of Corporate Valuation. 

     …¬ÛÈÛÛ/OR 

  ¾ÛæÅýÛ …ÛµÛÛÜÁõ©Û ÍÛ×˜ÛÛÅÛ¶Û¶ÛÛé ¾Ûéïéõ¶¡öà¶ÛÛé ”ýÛÛÅÛ ÍÛ¾Û›ÛÈÛÛé. 

  Explain McKinsey Approach of Value Based Management. 

 (b) •Û¾Ûé ©Ûé ¼Ûé ÅÛ”ÛÛé : 4 

  Attempt any two : 

  (1) ¾ÛÛÁõÛïõÛé¶Û (Marakon) ¶ÛÛ ”ýÛÛÅÛ¶ÛÛ ¾Ûä”ýÛ ©Û«ÈÛÛé ¤æ×øïõ¾ÛÛ× ÍÛ¾Û›ÛÈÛÛé.  

   Explain in brief key elements of Marakon Approach. 

  (2) ïõÛé¸ÛÛëÁéõ¤ø ¾ÛæÅýÛÛ×ïõ¶Û¶Ûà …Û¸Û¨Û¶Ûé ÉÛÛ ¾ÛÛ¤éø ›÷ÄõÁõ ™öé ? 

   Why we need corporate valuation ? 

  (3) ¾Ûäî©Û ÁõÛéïõ¦ø ¸ÛóÈÛÛÐü¶ÛÛ ˜ÛÛÅÛïõ¼ÛÇÛé ÍÛ¾Û›ÛÈÛÛé. 

   Explain drivers of Free Cash Flow (F.C.F.) 

  (4) ÍÛ¾ÛÛýÛäî©Û (adjusted) ˜ÛÛé¸Û¦øÛ ¾ÛæÅýÛ …é¤øÅÛé ÉÛä× ? 

   What is Adjusted Book Value ? 

 (c) ¶Ûà˜Ûé¶ÛÛ ›÷ÈÛÛ¼Û …Û¸ÛÛé. 3 

  Answer the following : 

  (1) ïõÛé¸ÛÛëÁéõ¤ø ¾ÛæÅýÛÛ×ïõ¶Û¶ÛÛé …¬ÛÙ …Û¸ÛÛé. 

   Give meaning of Corporate Valuation. 

  (2) ŠÜ˜Û©Û (Fair) ¼Û›ÛÁõ Ýïõ¾Û©Û …é¤øÅÛé ÉÛä× ? 

   What is Fair Market Value ? 

  (3) …é›÷¶ÍÛà ¸Û¦ø©ÛÁõ …é¤øÅÛé ÉÛä× ? 

   What is Agency Cost ? 
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2. (a) Ü¦øÜÈÛ¦ø¶¦ø ¶ÛàÜ©Û¶ÛÛ ÜÅÛ¶¤ø¶ÛÁõ ¾ÛÛé¦éøÅÛ¶Ûé ÍÛ¾Û›ÛÈÛÛé. 7 
  Explain Lintner’s Model of dividend policy. 

       …¬ÛÈÛÛ/OR   
  Ü¦øÜÈÛ¦ø¶¦ø ¶ÛàÜ©Û …é¤øÅÛé ÉÛä× ? ÈýÛæÐüÛ©¾Ûïõ ¶ÛÛ¨ÛÛ×ïõàýÛ ÍÛ×˜ÛÛÅÛ¶Û¾ÛÛ× ©Ûé¶Ûä× ¾ÛÐü«ÈÛ ÍÛ¾Û›ÛÈÛÛé. 
  What is dividend policy ? State its importance in strategic Financial Management. 

 (b) •Û¾Ûé ©Ûé ¼Ûé ÅÛ”ÛÛé. 4 
  Attempt any two : 
  (1) ¼ÛÛé¶ÛÍÛ ˆÉýÛä¶Ûà ¾ÛÛ•ÛÙþùÜÉÛÙïõÛ¶Ûà ˜Û˜ÛÛÙ ïõÁõÛé. 
   Discuss guidelines of bonus issue.  

  (2) Ü¦øÜÈÛ¦ø¶¦ø ¶ÛàÜ©Û¶ÛÛ …•Û©ýÛ¶ÛÛ ïõÛýÛþùÛÜïõýÛ ¸ÛÛÍÛÛ×…Ûé ›÷¨ÛÛÈÛÛé.  
   List important legal aspects of dividend policy. 

  (3) ¸Ûé§øà ÉÛÛ ¾ÛÛ¤éø ÜÍ¬ÛÁõ Ü¦øÜÈÛ¦ø¶¦ø¶Ûà ¶ÛàÜ©Û¶Ûé …¶ÛäÍÛÁéõ ™öé ? 
   Why do firms follow stable Dividend policy ? 

 (c) ¶Ûà˜Ûé¶ÛÛ ›÷ÈÛÛ¼Û …Û¸ÛÛé. 3 
  Answer the following : 

  (1) Í¤øÛéïõ¶ÛÛ ½ÛÛ•ÛÅÛÛ (Splits) …é¤øÅÛé ÉÛä× ? 
   What is Stock Splits ? 

  (2) ¸Ûé§øà Ü¦øÜÈÛ¦ø¶¦ø ÉÛÛ ¾ÛÛ¤éø ˜ÛæïõÈÛé ™öé ? 
   Why firms pay dividend ? 

  (3) Ü¦øÜÈÛ¦ø¶¦ø ¸Ûé-…ÛŠ¤ø (Pay-out) •Ûä¨ÛÛé«ÛÁõ ÉÛä× ™öé ?  
   What is dividend pay-out ratio ? 

 
3. (a) ¾ÛÛ×þù•Ûà¶Ûà …Û•ÛÛÐüà ¾ÛÛ¤éø •Ûä¨ÛÛé«ÛÁõ ÜÈÛÊÅÛéÌÛ¨Û¶Ûé ÍÛÛµÛ¶Û ©ÛÁõàïéõ ÍÛ¾Û›ÛÈÛÛé. 7 
  Explain ratio analysis as a tool for prediction of sickness. 

     …¬ÛÈÛÛ/OR 
  ºäõ•ÛÛÈÛÛ¶Ûà ¸Ûé§øà¶ÛÛ ¸Ûä¶Û:¾ÛæÅýÛÛ×ïõ¶Û (revaluation) ¸ÛÁõ …ÍÛÁõ ÍÛ¾Û›ÛÈÛÛé. 
  Explain the effect of inflation on firm revaluation. 

 (b) •Û¾Ûé ©Ûé ¼Ûé ÅÛ”ÛÛé. 4 

  Attempt any two : 

  (1) …Ûíé²ÛéÜ•Ûïõ ¾ÛÛ×þù•Ûà¶ÛÛ ïõÛÁõ¨ÛÛé¶Ûà ˜Û˜ÛÛÙ ïõÁõÛé. 
   Discuss causes of Industrial Sickness.  

  (2) ¾ÛÛ×þù•Ûà¶Ûà …Û•ÛÛÐüà¶Ûà …ÛÁõ›÷¶¤ø ¾ÛÛé¦éøÅÛ¶Ûà ˜Û˜ÛÛÙ ïõÁõÛé. 
   Discuss Argent model of prediction of Sickness. 

  (3) ¾Ûæ¦øà ¼Û›÷é¤øá•Û¾ÛÛ× ºäõ•ÛÛÈÛÛ¶Ûä× ¾ÛÐü«ÈÛ ›÷¨ÛÛÈÛÛé. 
   State the importance of inflation in Capital Budgeting. 
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 (c) ¶Ûà˜Ûé¶ÛÛ ›÷ÈÛÛ¼Û …Û¸ÛÛé. 3 
  Answer the following : 
  (1) ºäõ•ÛÛÈÛÛé …é¤øÅÛé ÉÛä× ? 
   What is Inflation ? 

  (2) ¾ÛÛ×þù•Ûà¶ÛÛ Ü¶ÛþùÛ¶Û …½ýÛÛÍÛ¾ÛÛ× ˜ÛÛÁõ “…ÛÁ”õ ›÷¨ÛÛÈÛÛé. 
   Give four “R” in diagnostic study of sickness. 

  (3) ¸Ûé§øà¶Ûä× ¸Ûä¶Û:¾ÛäÅýÛÛ×ïõ¶Û …é¤øÅÛé ÉÛä× ? 
   What is firm’s revaluation ? 

 
4. (a) ÜÅÛÈÛÁéõ›÷¦ø ¼ÛÛýÛ …ÛŠ¤ø ÍÛ¾Û›ÛÈÛÛé. 7 
  Explain leveraged buy-out. 

    …¬ÛÈÛÛ/OR 

  ïõÛé¸ÛÛëÁéõ¤ø ¸Ûä¶Û:Áõ˜Û¶ÛÛ¶Ûà ÜÈÛÜÈÛµÛ Áõà©ÛÛé ÍÛ¾Û›ÛÈÛÛé. 
  Explain various techniques of corporate restructuring. 

 (b) •Û¾Ûé ©Ûé ¼Ûé ÅÛ”ÛÛé. 4 
  Attempt any two : 

  (1) …éïõàïõÁõ¨Û …¶Ûé ÍÛ×¸ÛÛþù¶Û¶ÛÛ ÜÈÛÜ½Û¶¶Û ¸ÛóïõÛÁõÛé ›÷¨ÛÛÈÛÛé.  
   List various categories of Mergers and Acquisitions. 

  (2) ÜÈÛÍ©ÛÁõ¨Û¶Ûà ¾ÛýÛÛÙþùÛ…Ûé ›÷¨ÛÛÈÛÛé. 
   State limitations of Expansion. 

  (3) …éïõàïõÁõ¨Û¶ÛÛ ïõÁõÈÛéÁõÛ¾ÛÛ× ºõÛýÛþùÛ ›÷¨ÛÛÈÛÛé. 
   State tax benefits of Merger. 

 (c) ¶Ûà˜Ûé¶ÛÛ ›÷ÈÛÛ¼Û ÅÛ”ÛÛé. 3 
  Answer the following : 
  (1) ïõÛé¸ÛÛëÁéõ¤ø ¸Ûä¶Û:Áõ˜Û¶ÛÛ …é¤øÅÛé ÉÛä× ? 
   What is Corporate Restructuring ? 

  (2) ¦øà-¾Û›÷ÙÁõ …é¤øÅÛé ÉÛä× ? 
   What is Demergers ? 

  (3) ÅÛàÈÛÁéõ›¦ø ¼ÛÛýÛ …ÛŠ¤ø¶ÛÛ ¸ÛóïõÛÁõ¶Ûà ýÛÛþùà …Û¸ÛÛé. 
   List categories of leveraged buy-out. 

 
5. ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ïõÛéˆ¸Û¨Û ÍÛÛ©Û ÅÛ”ÛÛé. 14 
 Attempt any seven from the following : 

 (1) ¾Ûäî©Û ÁõÛéïõ¦ø ¸ÛóÈÛÛÐü …é¤øÅÛé ÉÛä× ? 
  What is Free Cash Flow ? 
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 (2) ÅÛ–Ûä«Û¾Û …é›÷¶ÍÛà ¸Û¦ø©ÛÁõ …é¤øÅÛé ÉÛä× ? 
  What is Minimizing Agency Costs ? 

 (3) Ü¾ÛÅÛïõ©ÛÛé¶ÛÛ ¸Ûä¶Û¾ÛæÙÅýÛÛ×ïõ¶Û ¸ÛÁõ ºäõ•ÛÛÈÛÛ¶Ûà …ÍÛÁõ ›÷¨ÛÛÈÛÛé. 
  State impact of inflation on asset revaluation. 

 (4) ¾ÛÛ×þù•Ûà¶Ûà ÈýÛÛ”ýÛÛ …Û¸ÛÛé. 
  Define Sickness. 

 (5) ¾ÛÛ×þù•Ûà¶Ûà …Û•ÛÛÐüà¶Ûä× …Å¤ø¾Ûé¶Û ¾ÛÛé¦éøÅÛ ›÷¨ÛÛÈÛÛé. 
  State Altman model of prediction of Sickness. 

 (6) ÍÛ×ýÛäî©Û ÍÛÛÐüÍÛ ¾ÛÛ¤éø ÉÛä× ¾ÛæÅÛÛµÛÛÁõ ÍÛæ¡ö (rationale) ™öé ? 
  What is the rationale for joint ventures ? 

 (7) ÍÛ×ýÛÛé›÷¶Û¶ÛÛ ¸ÛóïõÛÁõÛé ÍÛ¾Û›ÛÈÛÛé. 
  Explain types of Amalgamation. 

 (8) ÜÅÛ¶¤øÁõ¶ÛÁõ¶ÛÛ ¾ÛÛé¦éøÅÛ¶Ûà ¸Ûó¼ÛÇ©ÛÛ (Valid) ïéõ¤øÅÛà ™öé ? 
  How valid is the Lintner’s model ? 

 (9) ˜ÛÛé””Ûä× ÁõÛéïõÛ¨Û …é¤øÅÛé ÉÛä× ? 
  What is Net Investment ? 

 (10) ÁéõÍÛà¦øÀäÅÛ ˜ÛæïõÈÛ¨Ûà (residual payment) ¬Ûà…Áõà …é¤øÅÛé ÉÛä× ? 
  What is residual payment theory ? 

____________ 


